Atomic Energy Central School No. 4 Rawatbhata

Class 10 - Mathematics

Periodic Test-I (2019-20)
Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes
General Instructions:
Note:All quesions are compulsory, There is no overall choice, hoswever in some of the

questions, internal choice is available.

Section A
1. The least positive integer divisible by 20 and 24 is 1
a) 480 b) 240
) 360 d) 120
2. For every natural number ‘n’, 6" always ends with the digit 1
a) 4 bh)8
c) 6 d) 0
3. The polynomial 922 + 6z + 4 has 1
a) two real zeroes b) one real zero
¢) no real zeroes d) many real zeroes
4. Solution of = + % =2andaz — by =a? —b? is 1
a)x=aandy=h bz = a’andy = b
oz = -a’andy = - b d)x=-aandy=-h
5.4x2 - 2x-3=0have 1
a) Real roots b) Real and Distinct roots
¢) No Real roots d) Real and Equal roots
6. If product of two numbers is 3691 and their LCM is 3691, find their HCF. 1
7. Form a quadratic polynomial, one of whose zero, is 2 + /5 and the sum of 1
zeroes is 4.
OR
Find the zeroes of the polynomial (x - 2)% + 4.
8. Find the value of k so that the following system of equation has infinite 1
solutions:

3X-y-5=0,6x-2y+k=0

9. The product of two consecutive positive integers is 306. Form the quadratic 1




equation to find the integers, if X denotes the smaller integer.
OR
Write the value of A for which 2 + 4z + ) isa perfect square.
10. Find whether the pair of linear equations y = 0 and y = - 5 has no solution,

unique solution or infinitely many solutions

OR
For what value of k the following pair of linear equations has unique solution?
Tx+8y =Kk
O -4y =12
Section B

11. Express 2. 24 as a fraction in simplest form.
OR

Find the HCF and LCM of 612 and 1314 using prime factorisation method.

3 -v'fﬁ 3 i '\,J'fi
= and 5 -

12. Form a quadratic polynomial whose zeroes are

13. Solve: 2x2-x + % =0

Section C

14. Prove that 15 + 174/3 is an irrational number.

15. Find the zeroes of the polynomial y2 + %\/51; - 5 by factorisation method and
verify the relationship between the zeroes and coefficient of the polynomials.
OR

If the zeros of the polynomial x%- 3x% + x + 1 are (a - b), a and (a + b), find the
values of a and b.

16. Find the angles of a cyclic quadrilateral ABCD in which ZA = (4x + 20)°, /B =
(3x-5)°, ZC = (4y)° and ZD = (7y + 5)°.

17. The perimeter of right-angled triangle is five times the length of its shortest
side. The numerical value of the area of the triangle is 15 times the numerical
value of the length of the shortest side. Find the lengths of the three sides of
the triangle.

Section D

18. If two zeroes of a polynomial x + 5%% + 7x + 3 are - 1 and - 3, then find the

third zero.

2 3 _ 17 5 1l
19. Solve: 31{2y+3x 2% 5 and 3x{2y+3:|: Qy_z

20. If X =- 4 is a root of the equation 2 + 2x + 4p = 0, find the values of k for

which the equation x+ px( + 3k) + 7(3 + 2Kk) = 0 has equal roots.
OR

If the roots of the quadratic equation
(cz — ab) x? —2 (az — bc) r + b%2 — ac =0 in x are equal then show that
eithera=0or a® + b + ¢ = 3abc




Atomic Energy Central School No. 4 Rawatbhata
Class 10 - Science

Periodic test-1 (2019-20)

Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes
Section A

1. The colour of solid product formed on heating ferroussulphate is
a) reddish brown b) green
c) black d) colourless

2. In the reaction : CuO + H2 — Cu + H20 the reducing agent is :
a) H2O b) Ho
c) CuO d) Cu

3. Shown below are four parts of a slide of an epidermal peel, marked I, 11, 111
and IV. Which part out of these four should be focused under high power to view

complete stomata ?

a) ll b) 11
c) | d) Iv
4. A student sets up her circuit, for finding the equivalent resistance of a series
combination of two given resistors R1 and R2, in the manner as shown. She did

not obtain the correct results in her experiment because of a mistake in her circuit.

This mistake can be corrected by shifting the

a) ammeter and connecting it between K and T 3 |
b) ammeter and connecting it across P and Q ,

a8

c) voltmeter and connectingit across T and P with correct polarity
d)  voltmeter and connecting it across P and Q
5. A student carries out an experiment and plots the V-1 graph (V has been 1 plotted on
the vertical axis and | has been plotted on the horizontal axis) of three samples of
nichrome wire with resistances respectively as shown in the figure. Which of the

following is correct?

aQ) R3>Ro2>R1 b) R1>R2>R3
) (R « 1 ) d)R3=R2=R1
slope of V-1
graph
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6.

10.

11.

12.
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15.

16.

17.

18.

Why should a magnesium ribbon be cleaned with a sandpaper before burning 1

inair?

. Identify the oxidising agent in the following:

MnO2(s) + 4HCI— MnCl2(aq) + Clo(g) + 2H20

. Write balanced chemical equation for the following.

Zinc carbonate — Zinc oxide + Carbon dioxide.

. Define corrosion.

How many joule are there in 1 kWh?
Section B

When solutions of silver nitrate and sodium chloride are mixed, white
precipitate forms. The ionic equation for the reaction is Ag+(ag) + CI" —>AgCI(s)
1. a. What is the name of the white precipitate?
b. Is it a soluble or insoluble compound?
ii. Is the precipitation of silver chloride a redox reaction?

OR
What does one mean by exothermic and endothermic reactions ? Give examples.
Describe double circulation in human beings. Why isit necessary?
OR

Differentiate between arteries and veins.

. What is bile? What is its role in the digestion of food?
. What is Joule’s heating effect? How can it be demonstrated experimentally?

List its four applications in daily life.
OR
What is meant by electric power ? Give its units. How is it related to V and 1?
What is meant by electric current? Write its Sl unit. Calculate the amount of
charge that flows through a conductor when a current 5A flows through it for 2 min.
Section C
(a) What are precipitaion reactions? Write an equation for the same.
(b) how can we prevent rancidity? (any three)

Explain the location, structure and functions of kidney in human beings. Also
draw an appropriate diagram of human excretory system.

OR
Explain the nutrition process in an Amoeba with the help of a diagram.

What is meant by resistance of a conductor? Name and define its SI unit. List
the factors on Which the resistance of a wire affected, if (i) its length is

doubled, (ii) its radius is doubled?
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Atomic Energy Central School No. 4 Rawatbhata

Class 10 - Social Science
Periodic Test - | (2019-20)

Maximum Marks: 40 Time Allowed: 1 hour and 30 minutes

General Instructions:All questions are complusory. There is no overall chpoice, however

in some questions, internal choices have been given.

Section A
1. What did the term 'picket' refer to?
a) Boycott of clothes and goods b) Protest by blocking shop entrances
c) Stealing from shops d) Import of goods

2. He composed the song ‘Vande Mataram’:

a) Rabindranath Tagore b) Sarat Chandra Chatterjee
c) Bankim Chandra Chattopadhyay d) Natesa Sastri

3. Ravines refers to the

a) Bad land created at Kuluvalley b) Bad land created at Chambal valley
c) Bad land created at Godavari valley d) Bad land created at Ganga valley
4. The ‘community government’ is not elected by people belonging to which

language community — no matter where they live

a) Sri Lankan Tamils b) German-speaking
c) French-speaking d) Dutch-speaking

5. Sustainable development is necessary because
a) Human nature b) Development of a country
c) Market will get disturbed d) Resources will deplete

6. Who was the Sanyasi leader of the Awadh peasants?

7.Which resources are surveyed and determined on the basis of their quantity

and quality for utilisation?

8. Which country do ‘Indian Tamils' belong to?

OR
What is vertical division of powers?
9. Define average income. 1
OR
Define infant mortality rate.
10. Which is the main cause of land degradation in Madhya Pradesh? 1
OR

What is the main cause of land degradation in Punjab?

Section B




11. Explain the role of Ambedkar in uplifting the dalits or the depressed classes.
12. List the problems caused due to the indiscriminate use of resources by human
being?
OR
What are the different factors that determine land use?
13. Explain the consequences of the majoritarian policies adopted by the Sri
Lankan government.
14. What is human development index? Who has prepared it? Write about basic
components of human development measurement.
15. On the political outline map of India given below, identify the soil types in (i),

(i), (iii).

Section C
16. Why did Mahatma Gandhi relaunch the Civil Disobedience Movement with great
apprehension? Explain.

17. Which is most widely spread and important soil of India? State the characteristics of this type
of soil.

18. Write a paragraph on your notion of what should India do or achieve to become a
developed country.

OR
Why are better public facilities needed for the development of the country?

Explain any four public facilities.
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Atomic Energy Central School No. 4 Rawatbhata
Class 10 - English Language and Literature

Gen

1.

eral Instructions: All questions are compulsory.

Section A
Read the passages given below and answer the questions that follow
them: (8 marks)
The introduction of films in the late nineteenth century was truly a revolution
in the field of entertainment. Since then, many things have changed. From the
silent era to now, an era of dizzying realistic animation and sound effects,
every aspect associated with film-making has witnessed a multitude of
changes. There are some limitations a filmmaker has to observe while making
a film which prevents a film from being an exact reflection of society.
The first and the most important aspect that a filmmaker has to care for is that
his or her film should be a commercially viable one. This simple requirement
puts unlimited constraints on a filmmaker as he can only make films that he
can sell to the common people who watch films for the sake of entertainment.
Sometimes unnecessary controversies are rigged by filmmakers to arouse
interest and generate publicity for their films and a syrup of sex and violence
is poured unnecessarily onto the initial plot line to make a film more spicy for
the people we refer to as “front row audience” in a cinema hall. Another thing
that is required to make a film based on real or historical themes
commercially successful is making some changes in the storyline itself. Hence,
the film ceases to be an exact reflection of a historical society. Take for
example the recent controversy over the film Jodhaa Akbar. Even the film’s
director Ashutosh Gowariker has accepted that 70% of the film is not based on
history. Now a question arises can a film that is 70% fiction be considered a
reflection of any society of any era? Another good example of this would be
the film Hotel Rwanda based on the Hutu-Tutsi conflict in Rwanda. The film
has veered away from the mainly autobiographical storyline

at many places. In the words of legendary Japanese filmmaker Akira

Kurosawa, “In all my films, there’s three or maybe four minutes of real

cinema.”

a
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. What was the great revolution in the field of entertainment in the late

nineteenth century?

What is the first limitation of a filmmaker?

What is the main aim of a filmmaker?

What puts unlimited constraints on a fillmmaker?

. What do filmmakers do to arouse interest?

How does a filmmaker charm the front row audience?




g. Why 1s a filmmaker forced to change the real or historical storyline? Give
an example.
h. Who is Akira Kurosawa and what did he say about his films?
Section B
2. Write a story in 150-200 words from the outline given below :

One day, I was playing football in a park with my friends. Suddenly I saw
an old man, just collapsing on the pavement. All of us rushed to him.....

3. Look at the words and phrases given below. Rearrange them to form
meaningful sentences as given in the example.
Example: to be broken / health myths / that need / are / a few [/ there /
There are a few health myths that need to be broken.

a. contains / only animals / no plant food / cholesterol, / manufacture it /
b. and / are / cholesterol / free from / all dry fruits / oil seeds / so [ are
c. cholesterol / free from / made from plants / is / any oil / always /
d. one of the / 0il / mustard / hest / oil / the / oils / such / best / olive / healthiest /
among / etc / are / and
Section C
4. Read the extract given below and answer the questions that follow:
The way a crow
Shook down on me
The dust of snow
From a hemlock tree.
a. Name the poem and the poet.
b. What does the crow do?
c. What does a '"hemlock tree’ represent?
d. Whart is a crow generally associated with?
OR
Read the following extracts and answer the question/complete the
sentences that follow:
But if it had to perish twice
I think I know enough of hate
To say that for destruction ice
Is also great.
And would suffice.
a. Who knows enough of hate?
b. What is great for destruction of the world and why?
c. What is the rhyme scheme in this stanza?
d. What does the word 'suffice’ mean?
. Why did Lencho write a letter to God?
What did Lencho hope for?
Did Lencho try to find out who had sent the money to him? Why/Why not?
. Do yvou think that Mrs. Pumphrey was really responsible for Tricki’s illness?
Why was the author delighted to keep Tricki with him?
10. What was Mrs. Pumphrey’s reaction after hearing Tricki’s good health?
11. How did Hari Singh justify to himself his intention of stealing Anil’s money?
OR

Why did Hari Singh’s heart sink when Anil met him in the morning?

©w oW

10

[ T (O O T o ST




TTHTY IS Feald [@=med - 4, TEawrer
TAH AEfaE THEAT, (2019-20)
QU - 40 FeAT-3EAT [ELRREL:] qHT-1.30 el

g.1 fufafed T & uge g U udl & 9E IR -

Y TH g Uit 81 g & 39 g o ga §, T o,
oftfea oft, srufkfea ot <&t a@ wrell, uftfedl SR smafkfedl &1 uy g,
3¢ Ugd-l §gd ®fed el gidl, oo Bl @l UgarH-1, g=ad: 9 o
@ UEAT 9gd $fe gl 81 I8 U o’ T § fF TH R o 9gd 9
ANT 3U-30 Wrfaw T, gl iR o9 omefit & i &9 o §, W
waieT |l ¥g g1 b 98 fawr Wed € b 9 7 €1 39 fawid ol 9@
e, [ iR & @ @1 Uy 7, B o9 @ R @1 A S99 S| 9§
Mt R UAd g1 SO s fad 89RT aRdfd® i § a1 -T81, 39 §1d &1
qdl g4 dd db gl o Iohdl od db gd faufi § 9 gl faufy O Aol
i @ 9y B 2d & SR o g 9y T8 ¥isd, afds B 3 & 8d g
3Hfifee g8 die € wer wiar € & faufy o € 9= i @t ugeE g6t B

% A a1 WIfr g2 1
7. My g & fEdr fraw enuRa =Y @2 1
T. AN e Aldadl & B /& AE a1 FT dgar 1
7. qRdfds B a1 gar g? 1
T, Aha T BT gIaT 8? 1

¥.2 fafoiad usi § O foel IR usl & I oWl 2x4=s
F. ARG R @M Gfd & Ui 3MUdb R g Al & &1 IRelidd g
qMeq?
g, JIed WG St 3 G &1 §g R GHAY Dl A4 b RH R I&8d
M & fou & w8 e & SmuR W fafau)
T AdTell BT ARAT U6 & YR R UM did &1 o0 Hifvg|
9 W & SHfadd 3R IADHI dRIYN] HI guH U+ il T Hiforu)




T. U6 & SMYR W FIaRfed Hd & AR a4 P foveag fafau)
¥.3 Ufdd TUR Pl Ugh g T UYl & IR dIfoTe-

gIAGR W8S &I 3ad U8 TR, &R IR W ¥ [oRd 9Hd IRIE W
IHAT, TF GFT 3R Ifd & &F ¥ <@ & IR Od PIged gaH-d Bl
33T @ UHad ¥ g S forar, o WS o1 919 § 98 gRR Hdre &l a=Hl
W SR 95d Hd ol gl

g & ga & Hg § UM o9 g3 U1l 98 TP Hlal, Hiel 3R
GRIFESTS 3GHt Ul §IAGR W8d &1 U gAdx dg 3ial-gl 3@l § g4l
IGH! dig RRPI T gHHR I gPM & Ad UM YHT AR 3O dd-
HIc g fGEmeR didr, $P- aRHal Rl gl

% SN fo@m ¥ @1 ™ g2 1
7. gIAGR Ugd A UHFdld ¥ 1 @ 2
T. gIdER Ied Pl HHE-TW 31ed us T oI 2
¥.4 Fgfeiad ggl & I - 2X4=8

%.339d $ IR P! gal [pa-bads 3 TS B2
T, MUAl IGd B UFGaH Fi Hadl ]2
T.0GGT 9 @8 & W ¥ HHE-U qgial T @ B a1d Pt o @l g?
g, TMiE Wd & Wit [ dadl 82
¥.5 FEgaR W ifome- 1X4=4
Fd WY @ Y 3 I Y| (Vg a1 | Fafag)
g, 8 # W Ugdl, @ g au g @l (I $H THR 9d1sy)
T. 80 WE B U1 3R O @e Ul (B g # §efan)
7. HY Toidl € SR S del H o W B (WA I | gefon)
U.6 A &1 fad U8 F MU T TR &1 Ica@ DI off MU fad
Dl g T 5

3yaT
3O AR ¥ UMY oo iR &1 cadR REeT & Y ofidl g2
g.7 Faftd oam &1 AgW ddid gU B¢ U3 &I Ud UF forau| 5




